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(B) 15 ¥FvS
(C) 20 B (D) 24 T
dx 1 THTEA &

f log sinx
(A) log(sinx) + C
(B) log(cosx) + C
(C) log(log tanx) + C
(D) log(log sinx) + C

Han~'x | £
_n[(“xz)dxﬁﬂlm% £ 5::
(A) 1 (B) %
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. TEWH dy = 3x2 I TW@T 2y = 3x + 12§
IS T W o S 2

(A) 15 T gohTS (B) 18 &1 gahTS
(C) 24 =i gohrd (D) 27 = gerd

. e 2 e A 3 B oo
A~ (A - B) TR B
(A) A-B
Cy AuB

(B) B
(D) AnB

Aﬁarhalfmmutﬁabodylsdromad
from them. The time taken by the
body to reach on the ground is

(A) 10 seconds (B) 15 seconds
(C) 20 seconds (D) 24 seconds
Integral of I og — Log auat
AA) log(sinx) + C b

1 )rh*

(B) log(cosx) +C

ENTS S

(C) logflog tanx}+ C fegt (&
(D) log(log'sinx)+ C
2™
—1 »
]'ia'h K dxls equal to *{ﬂ*""u"
\ 4o}
t
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o ® % B, .
n° ° ! -0 3
32 @ 7 -1(4;1.!: )
..--i"

The area cut off the parabola 4y = 3x* [;EJ
by the straight line 2y = 3x + 12is i

(A) 15 sq. units (B) 18 sqg. units
(C) 24 sq. units (D) 27 sq. units

17t ]
I

For any two sets A and B, A— (A - B)
equals

(A) A—B
(C) AuB

(B) B
MAHB
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(B) 40
(D) 25

7. Ina wﬂ m If‘ @&#
. (A) Isosceles
(B) Equilateral
(C) Right angled

(D) None of the above

8. The term independent of x in the

ol il
axpansion of {Zx +§;) is
(A 15039 (B) 80/9

(D) 80/3

9 The Bgints with Eusﬁnuguednm

60|+’3],4u| BLa*. 52|are
collinear if a is equal to

AT - 40 (B) 40

(C) 20 (D) 25

10. A particle is projected with a velocity u
so that its range on a horizontal plane
is twice the greatest height attained,

the range is
2u? u?
Ay — B
(A} 30 (B) 29
<y .*.mu2
C
Q) — = D) ==
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12, dETE 3x@ + 4y? = 12 F vl -Yaadi
1 FHIFT S @1y + 2 = 4 F GHIRR
E 8
(A) y+2x =+4
(B) y+2x =47
h (©) y+2x=+15
(D) Y+2x=%419

13. 3l ﬁﬁﬁﬁﬂﬁﬂﬁ,ﬁqﬁﬁﬁa :

q4T A xB & o9 F1H0T &
(B) 60°
(D) 120°

B [
(A) O°

(C) 90°

14. zﬁ%A:[1 ‘2]33;"5:[2 5]
-1 2 !

(B)

g
©) 1 1]

(D) Wﬁﬁ#qﬁ

L'ra-wc

(€) 29t + 1)
(D) None of the above

12. The equations of tangents to the
ellipse 3x2 + 4y? = 12 which are

parallel to the line y + 2x = 4 are
(A) y + 2x =14

(B) y + 2x = +7
(©) v+ 2x =215
(D) y+2x=i~/1_9.

8. If"Aand B are two vectors, then angle

e
L

) o (B) 60°
St (D) 120°

1 2 6
: A= -
14. If [1 2:|.=.|m:IB [1 ]
then AB is equal to

00
o o
110
(B) [0 J
of ]

(D) None of the above




(B) 1dur—1
(D) FI |

17, AR, 0, o THE & T &,
(e +ef + 61 + o)
fhin Iﬂ:[% ¢ Yon

(A) -1
(©) 1

O Pl

(B) 0
(D) 2

18. AR & @en b o wfRw 3@ R E
4+ 2b T 54 — 4b TH T T TG
241 4 991 b % < A B

Wz ©) cos” (1]
af 2 m
©ws'(2] @3
19, Ea=aqEH fam ¥ find ge fuve g
m,ﬁ?ﬁﬂqéqmﬂmﬁmﬁn%
gftal 1 AT ©
‘ (A)Y'1:4:9
| (B) 1:3:5

(C) 1:2:8
(D) 1:4:5

1 B

- a8

@05 B)
(©) 2 - D)3

16. The multiplicative group {1,— 1,1, — i}
is a cyclic group, its generators are

(A) 1andi (B) 1and -1
AC) iand —i (D) only i

17. If 1, w, @ are the cube roots of unity,
then the value of

(1 + 0?)(1 + 0f)(1 + 0®)(1 + ©'®) is
(A) -1 (B) 0
oy 1 (D) 2

d bare unit vectors such that

a4 2b and 54 - 4b are perpendicular
“to each other, then the angle between

4 and b is
]
B) cos'| —
(B) [3]

(A) T
4

n

(D) 3

(C) cos™ (%}

The distances travelled by a body

| I‘.'* -

18.

falling freely from rest in the first,
second and third second are in the
ratio 3 ok
W’f :4:9 R, 3
(B) 1:3:5 &5

..--"":_._.-_._-_-_-_-w-
(C) 1:2:3 2
(D) 1:4:5 5
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ﬁmﬂ-#pxaq.qx_},r*t]*
wﬂ"ﬂ ?fﬁ,?‘l} u2B2+ﬂ2T +BE

qHE
(B) q* + zpa

.':'l-‘ e {'ﬂ}fﬂzm
Y- {G} qz"'ﬁz {D} qE_pE

?_ Sinx cos x
- 2

p COS“x+3cosx +2

dx F1HME B

B3
) log; ®) log?
(D) 1
- 1 2 O Tt e # o i

p
) -0

(B) -0
._""f 2

(D) m—p

T EL
(ot

22

23.

24,

mxﬂdrpx +gx +r =0, then

5 ‘,ﬁ%* o?y? +B2y2is equal to

If x is a real number, then the fun i
f(x) =x3 + x2 + x+ 1 has

(A) maximum value at x =0
(B) minimum value at x = 1
(C) maximum value atx =—1 .
(D) neither maximum nor minirnu_v
value

If o, [3 yare the roots of the equatlun

1(%2 - 2pr (B) g2 + 2pr
(C) g2 + p2 (D) q2 - p?
2 .
J e dx is equal to
S 9
(A) |Dg-§ ) |DQE

Ifzis a complex number of unit modulus
and argument 6, then arg[1+zJ is

equal to 147
i (B) Z-¢
(C) 6 2
(D) n—9
- |
N o)A o



ﬁﬂﬂ?m-mﬁ ;:ﬁ"’-
(A) 9.8, /4.
@) 1027 /3.
(C) 19.67. /4.
(D) 20.0 ft. /3.

.IZ"'_.

28. 1M UF 72 &I Featay fawm § 40 fex
1 S 7 ek TF 2, A1 F8 12
Aferst e # fopm wEaw g0 0 B
FFaTe !

(A) 4042 HiX
(C) 20 #Hiz

(B) 2042 "1t
(D) 80 HIeX

T {'11) W@P@ HBes 1o

i
TR &

t %7 (8

™ .
26. The order of the .diﬂerantial equation

() [yz {g_gﬂ :
(A) 3

(©) 2

27. A stone thrown up is caught by the
thrower after 6 sec. What will be the
Ia@@g of stone after 2 sec of its

Hﬁ gy 710 - 96 mis?

(A) 9.8 m/s
(B) 10.2 m/s
(C) 19.6 m/s
(D) 20.0 m/s

28. Ram can throw a ball vertically to a
maximum height of 40 metres, then he
can throw the ball in horizontal direction
to which maximum distance ?

(A) 402 metre (B) 2042 metre
(C) 20 metre (D) 80 metre
TG-06/C



ﬁ. af x+~-2cus— @ x° +—
Ty

A% &

L2~ 08 (D) a+b+ ¥
L 32. Qﬁi':ﬁ,m'f‘]*_nd-‘_“_ij‘m%
] . (B) 4i

(C) 0 D) 2

g +_—_" ar x° - S FARE

Eﬂﬁng

o2 (B) 25

g (D) 36

A wfew 2i-j+k, 14 2j- 3k T
3[+aj+5k Eﬂ?'ﬂ'qaiﬁq-% A ‘2

HH 19 =hifs |
Ta (A) 1 B
4 ({D; ?_4

(A) -2 (B) 0
(©) 1 (D) 5
81, 3R T Fema wgue 13 + ax® + bx + ¢ F1

U Y% — 1 2, 1 377 1 e &

82. Ifi=v=1,then (1+0)% = (1 —i)*is
equal to
(A) — (B) 4i
(C) 0 (D) 2
1
33. If x2+;§=11. then value of Ka—ﬂ!{
may be equal to 1
(A) 22 (B) 25
(C) 33 MB
34, 2mc! the uaiue of ‘a’ such that the vectnrs
= j+k |+2 =
S J-3k and 3j+ aj+ 5k are
(A) 1 (B) 2
SR (g (D) -4

10

31.

(B) 7x—11y=0
(C) 7x+11y=0
(D) x-y=0

L

114‘

1. .
Ifx+~1-=2cnsg,then 15+x—5 IS eq .-:

to X
(A) —
(C) 1

(B) 0
(D) 5

If one zero of the third degree polynomial
x3+ax2+ bx + cis— 1, then the product
of other two zeroes is
____;A} b-a+1

(Ghsa b+ 1

(B) b-a-1
(D) a+b+1



(®) 35
0.5

39. Tt s wER e s & f

2 -8, 1) (3,-1,2) %, 2

(A) X2 +y?+22—5x+4y+32-11=0
(B) X +y?+22 + 5x—4y+3z-11=0
- (C) ¥®+y2+22+11=0

(D) X+y2+22-5x+4y-32+11=0

. ,;:'_'.gaq::rr-rz’arn

11

throug apmrz,s 1), Tho moment
of the force about point (1, 2, — 1) is

(A) i-2j+k (B) 3i-j—k
(€) -3i+]+k (D) 3i+j-k
37. If the arithmetic mean from the
fnlluwing data
b4 5 15 25 35 45
f 6 4 3 k 2
is 21.5, the value of k will be
(A) 3 (B) 3.5

(D) 5

e
lﬂ
aﬁaglﬁ’ﬁ‘gaﬁ 2band | A - |3|._Tt then

ZCis
n L
(A) 3 ® 3
T R
© % (0

39. The equation of the sphere on the join of
(2,-3, 1) and (3, -1, 2) as diameter is

(A) X2 +y2 +22-5x+4y+3z2—-11=0

(B) x2+y2+22+5x—4y+32—-11=0

(C) ¥+y2+22+11=0

(D) X2 +y2+22—5x+4y—32+11=0
TG-06/C
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43.

(B) 1

(©) © -2

UF ¥ wHaw § et 32 five w s
@ =6 38 73 five 1 amepren § vy
g,

(A) 3 T fargrmdt &3 #

(B) 3 FHT B &

(C) 3 & ot 21 a1 e 2y
(D) 3 waaq By

e frm

X+z2=3

'Hx+y=2

H+y+bz=7

IO g g g af (a, b) =T
A (1,2) (B) (2, 1)

(C) (1,1)

(D) (-1, 4)

12

g

41.

42,

43.

.uu’@¢y3=1

(B) X2 +y2=2
(C) x2+y?—x-y=0
(D) x2+y2—3x—3y+4=0

The area of the region bnunded
curves y2 =xand x2 =y is

F

(A) 1 s

© 3 © 3

Jiﬂ]n (sin% : tan%] is equal to .'

(A) 0 (B) 1 :
g; E

If three forces acting in one plane
upon a rigid body, keep the body i n
equilibrium, then

(A) They must meetin a point

(B) They must be parallel

(C) They must either meet in a poin
or be paralle|

(D) They must be perpendicular

The system of equations
X+2=3

ax+y=2
X+y+bz=7

has a unique solution if (a, b) is
equal to

(A) (1,2)

(B) (2,1)
©) (1,1)

(D) (-1, 4)



(A) 108 ..
(C) 2&.4t.
. x4y (c-2xy—4ax—4dy+c2=0
ek o el =, 1 sae B e
(A) 1 B2
©) 3 (D) 5

49, F=rg vt &1 am Fr=fafaa 5 9
FH-A A& 7
(A) HTEA

(C) wfearah

(B) WH
(D) wger

13

46.

ﬁ?l

;.'I|‘<K q'.@ ]

an | ﬁg%} the chords are at distances
¥ ¢ 3 =

48,

49.

(A) 70° (8) 3
(C) 15° (D) 25° -

The value of
(x=y) +ly-2° +@2-x) jg
9(x-y) (y-2)(z—-x)

® 3

(D) 1

(A) 0

! 1
(C) 3

Two parallel chords of a circle of radius -

re in opposite side of the centre

‘and 4 cm from the centre, then
the difference of the lengths of the
chords is
(A) 10 cm
(C) 2cm

(B) 5cm
(D) 1 cm

If the equation

x2+y2 4+ (c—2)xy—4x—4y+c%=0
represents a circle, then its radius is
(A) 1 (B) 2

(C) 3 (D) 5

Which one of the following is not a

“" measure of central tendency ?

. (A) Mean (B) Range
(C) Median Py lode
TG-06/C




Y ©%
&
cos x| “ar

2
(B) 3
’ X

52,

53.

ne+t 1
51 The valie Dha for which 2t

da

© 12

(D) None of the above

- a" +b"
IS the harmonic mean of a and b, is
(B) 0 }

© %

d :
-d;(tan[cos tl x))z Is equal to
2
A = ® 5
© Yi-x (0
X : Vi-x2

The minimum value of 4 cosf + 3 is _-
(A) -3
(B) -1 o/
(C) o
(D) 1



fyz+gzx+hxy=0
(C) ax® +by® +cz2=0
(D) Vix+gy+Vhz=0

$ yefT THatE oS | 5% H
’B‘Iaﬁﬁ% | &t =T o WA TR

e gug § 318 T A Y
(A) 1054 (B) 1579

7= (D) 20

55. The general equation to the cone of
second degree which passes through

the axes, is

2 yz 2

X Zz
A) —+Z-+—=0
(A) gon 6

(B) fyz + gzx + hxy =0

(C) ax? + by?2 +cz2=0

(D) JE+JQ?+JE=U

) ﬁ f%um becomes double in 5 years in
1LY Vhen will it become 8 times at the

(B) 15 years
(D) 20 years

(A} 10 years
(C) 7 years

Solution of the differential equation
dy :

o] — L f=ax IS

I g[ dx) ax +by

(A) be?* +ae™® +C=0
ax

._h.}f
e e
gy S rC A

57.

(C) e+ +C=0

(D) g% + by = C(ax + by)”
TG-06/C
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i % -
8. A Y =l0gsx + log,5, 7t x = 54 dy
F1 0 H1 8y 7 dx
() s i
® +

(D) 1

61.

16

59. |f3 men working 3 hours per day ma
3 toys in 3 days, then the nurnbar of
toys which can be made by 6 men
working 6 hours per day in 6 days is

(A) 6 (B) 12
(C) 24 (D) 48

60." In the figure <A is egual to

Ify = log.x + Ing 5, then what-wittbe

the value of 9Y

d atx=57
il ® -
© o (D) 1



(A'J' 2 ._ (B) 3
(C) 4 (D) 5

L ARy =x4 7 g—i 1 W B
(A) x*logx

~ (B) x*(1—logx)
1 (C; x* (1 + logx)

(D) ¥* + logx

| o = (8
63. The equation of ﬁg ﬁirgcﬁi of the

parabola y2 + 4x + 4y +2 =0is
(A) x=-1 (B) x=1

©) x=-

L Bl
n |G

64. If U =ix(a xji‘}+]:-x{ﬁ xi}—rﬁx'{ﬁxﬁ}

then U is equal to
(A) O (B) &
(C) 2a (D) 35“

,‘I'F?meg@ weightof 9 itemsis 15 kg. If

item is added then the mean

we@ht becomes 16 kg, then the weight

of tenth item will be
(A) 20 kg (B) 15 kg
(C) 25 kg (D) 30 kg

66. The number of generators of a cyclic

group of order 10 is
(A) 2 (B) 3
(C) 4 (D) 5

dy
7. lfy = xX, then —= will
6 y.= ¥*, the dxw be

(A) x*logx

(B) x* (1 —logx)
* (1 + logx)

(D) x* + logx

" TG-06/C
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69.

70.

1.

30 YiF F1 e A it R

i qeferg W & qu ek s #i
ferpisand wfi 12 + 2m2 — 3n2 = 0
. FEgR FE E |
| (A) x2+y2—-72=0
(B) x*+2y>—322=0
(C) x¥*—2y2+322=0

(D) xy+yz+2zx=0

1%15%%"13@@&3#@@%@“
Al STt & | 39 TR 21 oY SRR
=11 8rfi ?

A 1
15

1 1
5 (D)

(B)

(C)

G AR a et et goge 3

o
Az

2a
3n
4a
3n

(A) (B)

(C)

WL o

(D)

‘dﬁﬂﬁﬁﬂazs:d%%ﬁ%l
1nu%ﬁﬁﬁm¢ﬁﬁﬁ?ﬁﬁm
%qﬁmﬁm:m%‘m
(A)2:3:4 B)4:3:2
(C)4:3:¢ (D) 6:4-3

TG-06/C
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68. Find the equation of the cone

69. Three numbers are chosen at ran

70.

il

The distance of centre of gravity

a, from the centre is

The speeds of three carg are in the
ratio2:3: 4.

taken by these cars in‘trave!ling
100 km distance wil| be

vertex at the origin and direction

cosines of its generators satisfy t
Z

equation /2 + 2m? - 3n==0.

@) By —2=0
(B) x2+2y?—32°=0
(C) X2—2y2+322=0

(D) xy+yz+2x=0

from numbers 1 to 15. The probabiliy
that they are consecutive is

2

(A) 1_1§ ®) =
Tl i

(C) 35 (D) 30

uniform semicireular lamina of radi

a
(A) £ B) 2a
3 ®) 2=
w}§ (D) 4a

= ]

The ratios of the times

(A)2:3:4 (B) 4:3:2
(C) 4:3:6 - 4:3
Dr6:4:3 |

I¢

%




GRS
73. If the mean of x, X+2, x+4,x+8,
x+8is11, then what is the mean of

uumw-w-?
(A)8 (8) 10
(C) 12 o
74. If A +iB = tan (x + iy), then tan 2x is
aqual to
ndga*
- 2A .
ST a7 g

(D) None of these

1
75. The sequence ('“%) 8
(A) Convergent
JA{-B] Divergent 10 =
(C) Divergent to — =

(D) None of the above




‘rﬂm’%ﬁﬂrﬂﬂﬁﬁﬂmm% fe
. wATe T IEE WY, 2
@ ot /A Gieo /¥,
. ©sRA D shA

J_ a

RRE i

79. 4 AT B 21 3egE 36 R E T
(A 2aB

(C)A+B (D) AB

%

~ 80. IRAEI6,8,5,7, xAM4F AT,
\ T e e
% 10) 5-5 (D) 7

;-?‘*L (sinx + i cosx)*, i=/=1 =1 areafym
T W“T%?
" (A) - cos 4x
~ (B) ~cos 2x
(C) cos 4x
(D) cos 2x

 AB=BTMIBA= A, T A% 4 B2aR

78.

?g, If A and B are two matrices such
" _AB =B and BA = A, then A2 +
equa o
(A} 2AB (B) 2BA
Er'A +B (D) AB
80. If the mean of the observations E

3,7, xand 4 is 7, then the median
these ubsewatmns IS

(C) 5.5

81.

. The smallest positive integer n fg

What is the real part of
(sinx + i cosx)4, i =1 7
(A) ~cos 4x
(B) —cos 2x

JG) cos 4x

1+i
which [M] =1,18
| (B) 12
(D) 16

(A) 8
(C) 4

A body is projected with ve|
40 metre per second inclined at an ay
60° with horizontal. The velocity of

body when it is at maximum heig t]
(A) 10 m/s (B) 20 m.f_s_;

(C) 15 m/s (D) 5mis

(A) 6.5 (B) 6

(D) 7

(D) cos 2x



(C) T aa
(D) 39 & & FIX T

85. U fed 7 5w & F =4i-3)+2k3
O I Oh @ E g (3,2, -1)
&g (2, -1, 4) W forenfim €t 2, form
™ FHE 8
(A) 15 318
(B) 183%™
(C) 205%T¢
(D) 24 7%

- E

21

83 [1”]: 1-i Tisé sl
1\ Je) T\ Je SURIIO]

(A) 1 (B) 2

(C) 4 (D) 8

S -
84. The equatlun X kbl < 1

re
.
| i

85.

T=r _d&r

® ahypemola
(C) acircle

(D) none of the above

The work done in moving an object
along a straight line from (3, 2, —1)
to (2, -1, 4) in a force field given by
F=4i-3j+2k,is

(A) 15 units

(B) 18 units

(C) 20 units
(D) 24-units
TG-06/C




=4-x2andy=x2is
adda# T
7

(B) 4 cm

(C) 5cm — ¢
Ll A0 = 6

87. The angle of intersection of the curves

' b
(B) tan! 4;{5

A A

(). tan[ 342 )

—

'».?,J

n
(D) 5

S lim a* _ 8

X—=a RJI __aﬂ
(A) a=1
(B) a=0 |
(C) a=e
(D) none of these

=-_1|ﬂ'le'n




(D) 50 ft/H

-
91, ARTF I AAF sl 2 i
i 0,20 ® 91 B 3 Sl €9 A
. ifireaT 0.30 2, A1 A STUET B S0
21 &l i
(A) 0.50 (B) 0.54
(C) 0.44 (D) 0.45

op. it i & - g A 7

LRI
(A) s_{1, > 3}

B N
(o4

(D) S={xeR:1<x<3)

93. & ‘POSTMAN' ¥ 3181 & U8 forad

952 59 Hehd € W1 T & ST B M
T HET B 7

(A) 60 (B) 120

(C) 360 (D) 720

o

(B V2
(D) 2

© -

90. A person travels from Ato B ata speed

of 40 kmph and returns by increasing
his speed by 50%. What is his average
speed for both the trips ?

(A) 40 kmph
(B) 45 kmph
(C) 48 kmph
(D) 50 kmph

91. If the probabﬂity for A to fail in an
examination-is 0.20 and that of B to
fail is.0.30, then the probability that
either A or B fails is =

(B) 0.154

(A)"0:50

(C) 0.44 (D) 0.45
g2. Which of the following is an open

set 7 _

JUES

A) S=41—= =

W s={12 3]

(B) N

oYz

(D) S={xeR:1<x<3}

93. How many words can be formed with
the letters of the word ‘POSTMAN’,
it every word begins with T and ends

withM 7

(A) 60 BT 120

(C) 360 (D) 720
TG-06/C



1 4 20
Mg 5
1 2x 5x2 )
Ao maEy @) YV
(A) 1 8) 3 u*t

1”3? (D) 0

98). ) = tan~'x 311t g(x) = sinx, @

= 0% 4« i,

(S{gof)(x) T H
G ST
\

X e
(©) ““*" (D) 1

. Teosc

:’ (D) 0 (C) 1
%, GHTHT] a dandx are the roots of the
71 - 20\

(D) O

equation | 1 -2 5 |=0,thenthe
1 2x 51"_
2 ul

value of Xy + X3 s

(A) 1 (B) 3
(C) 5 (D) O

98. If f(x) = tan~'x and g(x) = sinx, then
(gof) (x) is equal to

x
R - B e
'Ji':‘z (D) 1




]i‘ ’%aﬁé £ frer a 3, A
Fﬁﬁ%ﬁﬂaﬁmm
® %2

©) 5;

103.

f sin® xcos® X R
(A) 1 |

fwo finite sets have mandn elements
espedtively. The number of subsets of
ha first set is greater than the number

nf tsubsets of the second by 56.

Then the value of m? + n® is equal to
(A) 40

(B) 38

(C) 42

(D) None of the abové.__

If the radius of a hemisphére is a, then >~
its centre of gravity from its centre is at

a distance

3a 5a
a 2a
© 3 ©) %



(A) 110° (B) 70°

(C) 60° (D) 50°

105. Function f(x) = (x + 1)°°™ will be
continuous at x = 0 if the value

of f(0) is 3
(A) 1 (B) 0
(C) : (D) 1

e number of real solutions of the
uation |xj2—3|x| + 2 = 0 is

(B) 1
(D) 2

i €22 a2 e )
3 — is equal to

(D) Does not exist

108. The order of the element (- i) of the

multiplicative group G={1,—1,j — i}is
(A) 4 (B) 3 |
(C) 2

(D) 1




27

110‘ An aeroplane is flying at height h with
- ho

a

ground will be

(A) ,.fuﬂ +2gh

{é:) r2gh

The velocity of

rizontal velocity u.
reachlng the

dropped packet on
(B) JEght
(D) u®-2gh

eatest resultant which two forces

eAnhave is P and the least s Q. If they

112.

y ."':55? nangle o, then the resultant is

(A) P?+Q*
(B) JP? -Q?
() JFT2 cos? % +Q? sin® %

(D) /P2 cos? o +Q? sin® o

The tangent to the curve
14827 148
whicht =—

(A) 13x— 16y = 2a
Bi 13x + 16y = 2a
C
D

X = at the point for

13X~ By-da
13x + 8y =4a

TG-06/C
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=
]

The sides of a triangle are 15 cm,
20 cmand 25 cm res;?achvely,trm
the radius of in-circle is

(A) 10cm
(B) 12.5cm
(C) 5em
(D) 7.5cm

114.

for a moderately symmetrical

(1 o

iribution mean deviation is 12, then
alue of standard deviation is

|
J
(A) 15 ;
|
J

(B) 12
(C) 24
(D) None of the above

116. The co-ordinates of a moving point
are (2t2

+4, 41 + 6). Its locus will be
(A) Circle
(B) Straight line

SCT Parabola

(D) None of the aboye




\ 2(@.b+Db.G+C.8)F AN

(B) —21
21

119. TR (b-c)? (c -a}z (a- b}ﬂm

1
ﬂif‘ﬁﬁ?ﬁb ¢ c— aabéﬁﬁ

: wm%ﬁﬁ
(D) Iwder H & =S e
120, af2 x, T x, THfeR0T 2 — 2x + 4 = 0
FmE, @ x4 x3 FARR
(A) 18 (B) 8
(C) -16 (D) 4

ok @ = ﬂgﬂp ﬁi&

g X nmﬂnm“s

" ) Mﬁﬁnuuu&#.tx = ﬂwﬁhﬁ

discontinuity of first kind

(C) discontinuous at x = 0 and has
removable discontinuity

(D) discontinuous at x = 0 and has
discontinuity of second kind

118. If & band G are three vectors in
such a way that a+b+c=0 and
=1 lbl 4,|¢|= 2, then the value of

2(a.b+b.c+c.a)ls equal to
(A) 21 (B) —21

o) -2

119. If{b c}2 (c—a)? (a—b)j*areinAP.,
1

thenb cn__a- a0 bWIHbem

(A) H.P.
(B) G.P.

(C) A.P.
(D) None of the above

120. lfxiandxaaremutsoixa -2x+4=0,
then the value of X +x3 is equal to

(A) 16 (B) 8

(C) — 16 (D) 4
TG,-L-O&’C







